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Bpon BepHu otroBopu 4 x1TOouka= 4 TOUKMU
3an.Ne OTT. OTr. OTT. OTT.
5 r
6 B
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8 a
9 B
10 a
Bpou BepHu oTroBopu 6 X2 TOUYkM = 12 TOYKM
1 6
12 6
13 6
14 B
15 a
16 6
Bpou BepHu oTroBopu 6 X 3 To4kM = 18 TOUKM
3an.Ne Pesyntar TOYKMU
17 72 5
18 42857 5
19 | M= -24x,N=2x,P=16x,Q=8,R= x? 1+1+1+1+1
20 2:1 5
21 A)9:8 B)10% B)45 2+3+3
22 a) 108 6) 120 B) 96 8
3aa.Ne TOYKMN
23 15
24 15
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Penrenne 23 3agaua
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ZAMB = ZBNC =90° ( AM u BN ca BucouuHu )
Hexa ZABN =21, ZBAM =/2 , ZCBN = £ 3. Toraa £ 2:/21=2:5(1)

£3=21-30°(2)

or AABM  /1+/2+/3=90° (3) 3T

or (1) 42:§41 Z3=/1 -30°

3amectBame B(3) L 1+ %4 1+ £ 1 -30°=090°

2%4 1=120° = Z 1= 50° 5T,

L2 = %50":20O

£3=50°-30°=20°
£ 3=30°
ZACB =90°—- 2 3 = 90°-20°=70°. ST.

Pentenne 24 3ajaga

a) A= 25—x2—x4—5x3=(5—x)(5+x)—x3(5+x)=(5+x)(5—x—x3) 4T

B=x"+3x"y+3x)° +)’ -9x -9y = (x+y)3—9(x+y) =

= (e 4 )|+ yF =9) = (x4 p)Nx+y+3) x+y-3) 4.
C=4x"+Tx-2 = 4x" —x+8x—-2 =x(4x—1)+2(4x-1) = (x+2)4x-1) 2T

6) x=-1 y=1 1T
A=28 B=0 C =-5 3T

A+B-5C=28+0-25=3 1T.



